
KTET 
(August 2012)
Previous Year Paper

[Set A] [Part-I]

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


https://applink.adda247.com/d/5zsmwiLHz7


��������	
����


���	�������������	�����
�����������
��
�	���	�������	
������������������

��������	
����
��
���
��
�����
���
����	�

�
�����		��
��
��
���
������
������

�� �����

����
���

����	��

���	

������

�
���
���
����������	��������������������
����	���������
���������������������
�������
��������	
���	���	��	������
������
�����	
��������
��
����
�����

�

���
�
����������

�

����	�
��

����
���	�
��������

��
���

� 
!
	����

�����!�
���
����
�
�!
�
����	���
"����
��
������

#� $���
�����
����	�
������
��	�
���
�		������
����
��
���
 ����
��
���
�		�����
������
��
���
����
�!
�	���

%� ���� 
���� � �����  � ������ ����� �
	��� ���� � �
�� ������	��� 
!"���	��
#����	������
	��$������	
���
��%&'�������

&� ��
 
����
�
���
��
�����
�����
 ����
�����
�����
 ����
 ��
 ���
'()
������
 
�
����
�����
��
����
���
���
'()
�����

�
	
��	�
��
��
�������
��
�����		���
*��
���
�
��
��
���
+���������
,��������
��� ��

�
��
�
��!���
���		
��
�
��	�

-� ��
��
���
���!�
'()
�����
��
�
����
����
�����
��

�

�
������
��
�����	
����
����
��.���
���
����
 ��
��
���������
��
����
 �
��	�
����
���
������

�
���
������
��
���
!
 ��
��	�
��
���������
��
!
 �
��	�
��
�����
����
����

�
���
�������
���
��	� ���
'()
�����
���
�
�.���
����
������
���
/�*0*�#1�#
�
		
��
�����		���
*��
���
�
��
��
���
+���������
,��������
��� ��

�
��
�
��!���
���		
��
�
��	�

����������	�
���
��

��������

�������	
���
�� ������������� �	�	� ����	�	� ����	�	�
������������	�� ������	
� ������	
� �����

���

$�
	�
�� �	������
���
,���!�!� �� ������� �������

+����
���
)��!�
2���

�

,�!�
���
3 ��	��
 ��������
���

�

,�!�
���
3 ��	���

Code No. : 501 Set - A

��� � �������	
��
��
�������
 
������

(�������
�� �� �������� ��������
0� 
��������	
+���
�� �� ������
� �
������

1

�	
���
����� �	

����

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Code No. : 501 2

(�����)
��'
����*
��

Set - A

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Code No. : 501 Set - A

1. Observe the Picture given below :

What type of development it
denotes?

(A) Mental Development

(B) Physical Development

(C) Emotional Development

(D) Psychomotor Development
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2. When Anu was in 4th standard, she
used to participate very actively in
all classroom works. But after
entering 5th standard, she appeared
quite gloomy and in attentive.
Which method do you adopt to
solve the problem?

(A) Observation

(B) Action Research

(C) Case Study

(D) Testing

3. The developmental stage in which
logical thinking and abstract
thinking are at the best :

(A) Infancy

(B) Childhood

(C) Adolescence

(D) Old age

4. Which of the following is not a
characteristic of a five year old
child?

(A) Imitates

(B) Acquires body balance

(C) Shows interest in play

(D) Has abstract thinking ability

5. A child's first means of
communication is through :

(A) Cooing

(B) Crying

(C) Smiling

(D) Through simple words
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6. A child who used to play with
white rabbits became fearful of
seing even white coloured objects
later. This is due to :

(A) Conditioning

(B) Mental disturbances

(C) Adjustment Problem

(D) Dislike Play

7. Observe the dots, see whether
there forms a figure? Which
characteristic of mind explains this
perception?

(A) Similarity

(B) Proximity

(C) Continuity

(D) All of the above

8. According to Gestalt theory,
learning is most effective by :

(A) Repetition

(B) Problem solving

(C) Trial and error

(D) Conditioning
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9. As per the Piaget's theory on
Cognitive development, the
following figures are developed to
measure a particular ability of the
children :

Here it used to identify :

(A) Reversibility

(B) Ability in classification

(C) Logical thinking

(D) Ability to infer

10. Minitha had learned type writing.
When she reached high school, she
has to learn computer where she
could able to operate computer key
board very easily. This can be
attributed to :

(A) Transfer of training

(B) Practice on keyboard

(C) Interest in using computer

(D) Simplicity of the keyboard
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11. "We only thinking when we
confronted with problem". Who
proposed it?

(A) Pestalozzi

(B) Maria Montissori

(C) John Dewey

(D) Rousseaue

12. When the teacher asked Prathibha
to count 50 note books from the
school storeroom, she had counted
ten books at first. Then she had
four bunches of notebooks of the
same hight. This way she counted
50 books easily.

Here Prathibha manifests :

(A) Visio-spatial intelligence

(B) Logico-mathematical intelligence

(C) Intra personal intelligence

(D) Naturalistic Intelligence

13. Teacher asked the students to
rearrange the letters in the word
'CTA' to make a meaningful name
of an animal. Most of them could
make it easily. What ability is
measured in this context?

(A) Concepts on animals

(B) Language ability of children

(C) Interest in activity

(D) Interest in play
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14. While assessing the physical
efficiency of the children in her
class, the teacher Deepa directly
graded them with A, B, C. What
kind of grading is this?

(A) Absolute Grading

(B) Direct Grading

(C) Point Grading

(D) Relative Grading

15. Observe the figures given below
and choose the right one
representing Freud's idea of human
mind.

(A)

(B)

(C)

(D)

8
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16. 'Jithitha has a treasure of
knowledge on local plants and
flowers, but her teacher used to
ignore it in the classroom'. Here the
teacher :

(A) Doesn't consider the local
knowledge

(B) Doesn't consider the girl child

(C) Doesn't consider the nature of
child

(D) All of the above

17. Read the following characteristics
of a child.

i) He is not lazy

ii) He has many abilities

iii) While doing arithmatics in the
classroom, he used to reverse
numbers and constantly
makes mistakes.

What problem does he face?

(A) Learning Backwardness

(B) Learning Disability

(C) Physical Disability

(D) Mental Disability

18. Have you heard of Thathagath?
He passed his M.Sc. in physics at
the age of 12. He could do this
because :

(A) He is brilliant

(B) Got immediate acceleration

(C) Got continuous support from
parents and teachers

(D) All of the above
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19. 'Adapted teaching manual' is now
used in the classroom for :

(A) For effective classroom
transactions

(B) To promote learning of
(CWSN) Children with
Special Needs

(C) To catch attention of children

(D) To make classroom
participatory

20. 'Adarsh a nine year old child, who
is very restless. He couldn't
concentrate on a task and complete
it'.

What problem does he face?

(A) ADHD

(B) Autism

(C) Aphasia

(D) Disphraxia

21. 'A teacher used to encourage her
children to ask questions. She
also used to promote those
children asking good evaluatory
questions'. This process helps the
children to :

(A) Learn subject well

(B) Develop critical thinking
ability

(C) Utilize the knowledge of the
teacher well

(D) Ensure their participation
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22. What instructional method is the
best to ensure development of
creativity among students?

(A) Problem solving

(B) Project

(C) Brain storming

(D) Enquiry

23. Suppose children possess certain
misconcepts in their subject of
study, what is the best method to
be adopted in the classroom to
solve it?

(A) Indicate the error and correct
it at once

(B) Let it to solve by children
themselves

(C) Organise appropriate learning
experience and help them to
solve it

(D) Let them ask somebody to
solve it

24. For formulating the curriculum
which factor is most important?

(A) Teachers ability

(B) Children's capabilities and
needs

(C) National ideologies

(D) Social and cultural ideals
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25. When does an activity become
collaborative?

(A) Group members do have a
common goal but not well
organised

(B) Well organised, but do not
have a common goal

(C) Well organised group,
working on a common goal

(D) None of the above

26. Read the definition given below.
"It is our ability to know what we
know and what we don't know".
What does it represent?

(A) Cognition

(B) Intelligence

(C) Meta Cognition

(D) Knowledge

27. According to Katherene Bridges,
a new born child does possess only
one emotional state at the time of
birth. Then, What it is?

(A) Distress

(B) Delight

(C) Diffuse excitement

(D) Disgust.
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28. How does Piaget relate the
cognitive structure of a person to
his environment?

(A) Cognitive structure develop
freely without having
environmental influence

(B) Cognitive structure develops
through the interaction with
the environment

(C) Cognitive development is
purely a biological process

(D) None of the above

29. 'In Maslow's need hierarchy',
which is the highest need that does
a person aspire?

(A) Safety Needs

(B) Physiological Needs

(C) Self Actualisation Needs

(D) Self Esteem Needs

30. Which one is not useful to adopt
in Primary classroom as a
scaffolder?

(A) Make use of the acquired
knowledge

(B) Let students share experiences
related to the issue

(C) Repeating and mastering idea

(D) Let students to share their
incomplete ideas
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31. In the natural number 7 7 7 7 7
how many times the place value
of 7 in the circle is the place value
of 7 in the square?

(A) 10

(B) 100

(C) 1000

(D) 10000

32. 5.10m cloth is required for
stitching shirts for Arun, Ajith and
Abijith. Arun requires 20 cm of
cloth morethan that for Ajith.
Abijith requires 10 cm cloth less-
than that for Arun. How much
centimeters of cloth is required for
Ajith

(A) 150

(B) 160

(C) 170

(D) 180

33. When a five digit number is added
to a four digit number which of
the following cannot come as the
answer?

(A) 109988

(B) 109989

(C) 109998

(D) 109999
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34. How many 
100

1
 are there in 2.16

(A) 6

(B) 16

(C) 21

(D) 216

35. When 100 rupee note was changed
Ravi got coins of 50 paise, 1
Rupee 2 Rupee and all notes of
denomination of Rupees 5 and
more. What is the total number of
coins and notes he got?

(A) 10

(B) 9

(C) 8

(D) 7

36. What is the maximum area in
square centimeters for a rectangle
of perimetre 80 cm?

(A) 80

(B) 400

(C) 1600

(D) 6400

37. Which of the following is a
possible sum of four consecutive
counting numbers?

(A) 17

(B) 18

(C) 19

(D) 20
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38. If 
2

1
1 kg of tomato costs Rupees 30,

what is the price of 
4

3
2 kg of

tomatos

(A) 45

(B) 50

(C) 55

(D) 60

39. If 500 sheets of paper costs Rupees
140, What is the cost of one sheet
of paper?

(A) � 0.14

(B) ��0.70

(C) ��0.28

(D) ��1.40

40. Which of the following is equal to
77 x 555

(A) 55 x 777

(B) 755 x 75

(C) 75 x 557

(D) 775 x 55
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41. In the following Tangram figure
how much part of the square is the
shaded region

(A)
7

1

(B)
9

1

(C)
14

1

(D)
16

1

42. The area of a square is 100 cm2.
A new square is obtained by
increasing the sides by 1 cm. How
much more is the area of the new
square than the area of the first one

(A) 1

(B) 10

(C) 11

(D) 21
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43. The perimetre of a square is 28 cm.
A square of side 1 cm is cut off
from each of the four corners.
What is the perimetre of the
remaining part?

(A) 28

(B) 24

(C) 20

(D) 16

44. Which of the following model can-
be constructed using 18 match
sticks completely.

(A) Rectangular prism

(B) Square prism

(C) Pentagonal prism

(D) Hexagonal prism

45. Which is the next number in the
pattern

1, 3, 7, 13, 21, ........

(A) 29

(B) 31

(C) 33

(D) 34
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46. A train starts from Ernakulam at
13.30 on 30-06-2012 and reaches
Delhi at 11.40 on 02-07-2012.
What is the time taken for the
journey?

(A) 70 hours 10 minutes

(B) 44 hours 40 minutes

(C) 46 hours 10 minutes

(D) 47 hours 40 minutes

47. Given below is the figure of a stair
of bricks. How many bricks are
needed to build a stair of 10 steps
like this

(A) 55

(B) 50

(C) 45

(D) 10
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48. Given below is a grid for
constructing a dice.

Which of the following is the
figure of a dice constructed from
this grid?

(A)

(B)

(C)

(D)

49. How much millimetre is 0.1 km.

(A) 1000000

(B) 100000

(C) 10000

(D) 1000
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50. 78 x 96 x 54 = 404352 Then
what is 39 x 48 x 27

(A) 25274

(B) 50544

(C) 101088

(D) 202176

51. Which of the following is not a
concept related to division

(A) equal distribution

(B) repeated subtraction

(C) repeated addition

(D) opposite of multiplication

52. Which of the following is not a
goal of Mathematics learning as per
NCF 2005

(A) Mathematication of thought
process

(B) Visualisation of Mathematics

(C) Including more Mathematical
concepts at primary level

(D) Giving importance to the
method of problem solving
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53. Whose birthday is related to the
celebration of National year of
Mathematics 2012

(A) Bhaskaracharyar

(B) Aryabhatan

(C) Bhrahma Guptha

(D) Sreenivasa Ramanujan

54. Given below are the various stages
of concept building in Mathematics
learning

(a) Relating to figures

(b) Using concrete objects

(c) Expressing in appropriate
language

(d) Relating with symbols

Arrange these in the order of
concept formation.

(A) [b, c, a, d]

(B) [b, a, c, d]

(C) [c, b, a, d]

(D) [c, a, b, d]

55. Which of the following is not a
practice to be followed by teacher
in a Mathematics class

(A) raising thought provoking
questions

(B) working out all the problems

(C) making opportunity for self
evaluation

(D) encourage thinking through
simple examples
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56. Which of the following is the
characteristic of induction method

(A) From a general principle to a
particular problem

(B) From many examples to
general principle

(C) Analysis of a principle

(D) Establish a fact through
experiments

57. Which of the following is not a
stage in problem analysis

(A) Identify the problem exactly

(B) Identifies various ways

(C) Workingout the steps

(D) Choosing appropriate method

58. Different stages of finding the area
of a rectangle are given below.
Arrange them in the order of
introducing the concept of area

a : By multiplying length and
breadth

b : Spreading unit squares

c : By drawing unit squares

d : By counting, using stamps,
postcards etc.

(A) [d, b, c, a]

(B) [d, c, b, a]

(C) [c, a, b, d]

(D) [a, b, c, d]
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59. Which of the following activity can
lead to developing creativity
among children?

(A) Preparation of multiplication
facts

(B) Finding perimetre of various
rectangles

(C) Analysing tables relating to
time and distance

(D) Constructing and colouring
various geometrical shapes

60. Various stages of a construction in
mathematics are given below.
Arrange them in order.

a : Formation of approximate
model

b : Identifying appropriate
method / tools

c : Self evaluation of the product

d : Completing the construction
with precession and accuracy

(A) [a, b, d, c]

(B) [c, d, b, a]

(C) [b, a, d, c]

(D) [a, d, b, c]
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61. The part of the eye which is taken
out during eye donation?

(A) Lense

(B) Cornea

(C) Retina

(D) Iris

62. The importance of moon
mineralogy maper is Chandrayan
- I is ___________

(A) Taken the photographs of
moon craters

(B) Collecting information about
lunar gases

(C) Confirm the presence of water
in the moon

(D) Identify the minerals in the
moon

63. The most suitable statement for the
word 'Science'?

(A) The cumulative knowledge
acquired by human race and
its effectiveness

(B) The cumulative knowledge
acquired by human race and
the process of enquiry
involved in it.

(C) The process involved in the
enquiry and its effectiveness

(D) The knowledge acquired by
scientist

� %��� '� �������#���� ��()*�)�-�� ���.�
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64. One of the causes Alshemers
disease is the excess presence of
________.

(A) Aluminium

(B) Sodium

(C) Potassium

(D) Iron

65. Which one of the statement is not
related to Carbondioxide?

(A) Greenhouse gas

(B) Essential for photosynthesise

(C) Involve in Carbon cycle

(D) Cause depletion of ozone

66. Which one of the following is not
the controlled variable in an
experiment that find out the
influence of water in plant growth

(A) Sunlight

(B) Manure

(C) Water

(D) Soil

67. The primary consumer in a food
chain is _________

(A) Green plants

(B) Grass hoper

(C) Frog

(D) Snake
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68. Which one of the following is the
wrong statement about might?

(A) Light passes through strait
line

(B) Earth is opaque

(C) Shadow of the earth

(D) The revolution of the earth

69. Observes an object in various
directions and find out the change
in shape.

Examine what happen when
various objects having different
weight dropped from various hights.

Observe the changes occures in
shadows according to time.

The most appropriate process skill
acquired by children through the
above learning experience?

(A) Classification

(B) Using number relations

(C) Using space-time relations

(D) Communicating

70. The maintenance of atmospheric
temperature suitable for the
existance of species in earth is
_______

(A) The sun rays are absorbed by
the earth surface

(B) The sun rays are reflected by
the earth surface

(C) The reflection and re-
reflection of sun rays by the
earth surface

(D) Presence of ozone layer
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71. The phenominon which occure
when moon comes between sun
and earth?

(A) Lunar eclips

(B) Solar eclips

(C) Full moon

(D) Dark moon

72. "90% of homes in a village is using
convensional energy source for
cooking. While 10% are adopting
LPG as their energy source".

Which is the most suitable chart
form to illustrate the above data?

(A) Tree chart

(B) Table chart

(C) Pie chart

(D) Flow chart

73. 'Oryza Sativa' - Is the scientific
name of _________

(A) Rabi

(B) Wheat

(C) Paddy

(D) Maize
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74. Find out the odd one?

(A) Wind mill

(B) Solar pannel

(C) Hydro electric power station

(D) Nuclear power station

75.

Students

Traits 1 2 3 4 5 6 7 8 9 10

1. Punctuality

2. Responds to the
   questions

3. Shows interesting
   in scientific
   hobbies

4. Active in co-
   curricular
   activities

In which category the tool
mentioned above is included

(A) Rating scale

(B) Check list

(C) Anecdotal record

(D) Cumulative record

29

	�� !:+��$'���������
*��
 0

(A) �$);��$'

(B) ���&�������<��!"

(C) .<�����(/��
�$<�	

(D) =�����$�<�	

��.

�������

 ���	
������� 1 2 3 4 5 6 7 8 9 10

1. �
���������
���������������

2. 	�������	����
���� ������!��"�����

3. 
��� �#���
��
���	$�%����&
�������!�'
�� ������(��"�����

4. ���������%)
�����������	�
��

�����&�!�'
��� ������(��"�����

��!�&$'
�!����$�$�%�����
*��
�$>�����$'
 ��������

(A) �5,$?�
���!�$'

(B) �#!�<$@�

(C) -�!����+'
 5$�%��;�

(D) !/��$��<�, ��
 5$�%��;�

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Code No. : 501 Set - A

76. Which one of the following is not
a mammal

(A) Dolphin

(B) Bat

(C) Whale

(D) Shark

77. The theam of the 'silent spring'
written by Rachelcarson?

(A) Origin of Cosmos

(B) Repercussion of pesticides in
the environment

(C) Richness of the beauty of the
nature

(D) Climate change

78. Which one of the following
statement is not relevant to the
planning page of teaching manual.

(A) Planning in modular pattern

(B) Detailed the microprocess of
activities

(C) Include the activities from
Text book, Hand book and
Self developed activities.

(D) Mention achievement status
of students
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79. What is LED?

(A) Light emitting device

(B) Light emitting diode

(C) Light energy device

(D) Light energy diode

80. What is the reason for celebration
of the National Science day on Feb.
28?

(A) Birthday of C.V. Raman

(B) Death of C.V. Raman

(C) The day in which C.V.
Raman awarded Nobel Prize

(D) The day in which Raman
effect is invented

81.

Which one of the following is the
most appropriate sequence.

(A) A → B → D → C

(B) C → B → D → A

(C) B → A → C → D

(D) A → C → D → B

Integrated
Learning

Environmental
Study Science

Basic
Science

A B C D
→ → →
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82. The soil suitable for agriculture is
_______

(A) Soil having high water storage
capacity, humus, presence of
air

(B) Soil having low water storage
capacity, high humus and
presence of air

(C) Soil having high water storage
capacity, humus and low air
presence

(D) Soil having low water storage
capacity, air presence and
high humus

83. Labourers lifted a heavy log on a
lorry. They arranged five pulleys
in a 2nd order system. Calculate the
actual weight of the log if the effort
applied is 1000 kg?

(A) 50 kg

(B) 500 kg

(C) 5000 kg

(D) 15000 kg

84. Find out the statement which is not
suitable with the assumption of
assessment?

(A) Assessment for learning

(B) Learning for assessment

(C) Assessment as learning

(D) Assessment of learning
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85.

Name the stellar group illustrated
above.

(A) Leo

(B) Great Bear

(C) Orion

(D) Herculis

86. The phenominon which do not
occure in plants.

(A) Respiration

(B) Transpiration

(C) Diffusion

(D) Sublimation

87. Find out the statement which is not
suitable to the concept of
environmental study

(A) Learning about the
environment

(B) Various studies occure in the
environment

(C) Learning through the
interaction with environment

(D) Learning for the environment
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88. Which one of the following is
related to the high yield of milk?

(A) Green revolution

(B) White revolution

(C) Blue revolution

(D) Industrial revolution

89. Which one of the following is not
related to the concept of 'Live
Corner'?

(A) aquarium

(B) Vivarium

(C) Planetarium

(D) Terrarium

90. The reason behind the
contraversory about the
prohibition of BT Brinjal?

(A) Causes genetic disorders

(B) Causes the distruction of other
plants

(C) Demand excess use of
pesticides

(D) Lack of adequate nutrients
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